BHEFE WHMEIKEKBRE HBRFK (BA)
SHSEE B KIS KERES BCE DS NS CRRKERRURBEERHLEL . BEOBR. U TOEPIRERBHOEE L TULE.

No, 1
¥ B 1% PR
B B 3 EXET | wpw | PE® | PEB | LUBOR | WSDR | LBDR | XS 5 5 XW | KBRS
GEET) GrRB (RE) ) (FIIFEE) | FEEE) | (T2EB) (FZK) (BBINEF) (Bmm) (BR)
1 [#RERB =[S 88218 88218 88218 88218 88218 88218 88218 88218 88218 88218 88218
2 | XKz LBEOXE BN BN BN BN BN fiBENn (=g BN (=g BN BN
3 |58 T 275 31.0 29.0 32.5 32.0 30.2 30.5 26.3 32.2 30.0 34.0
4 [58 C 23.8 25.5 22.7 27.0 24.2 21.5 22.0 26.2 27.0 24.3 30.0
% EX 1% PR
ERRBE | BEXE [Tupw [ 2BE | PEB | USPR | LSRR | USOR | &R 58 580 B | KBRS
GEH8I) G=B) (RE3) JIA) (PNEE) | (WEEH) | (T2EH) (A27K) (B/\E) (Bfam) (BR)
5 |[—iH&E 10018 /mLLT 0 0 0 0 0 0 0 0 0 0 0
6 [ KiGE BHaNZWCE | BEanal) | BEanal) | BEangl) | BEanEl) | BEanEl) | BEanal) | SEangl) | BEangl) | BEangl) | BEangu) | BBz
T ||&twrZ>  |200me/LUT 20K@ | 20FK® | 20KE | 20KE | 20FKE | 0% | 20FKE | 0Kkw | 20K%E | 20K [ 20K
(=137 N N : ; N N N N
8 (EBEERTOCIOR) 3mg,/LELF 0.3 Riw 0.3 R 0.3 X 0.3 0.3 Xim 0.3 X 0.3 0.3 Xim 0.3 Xim 1 0.3
9 [pHiE 5.8 8.6l 71 @5¢C) | 7.7 (25°c) | 7.5 (25°C) | 6.5 (25°C) | 6.5 (25°C) | 7.2 (25°C) | 7.2 (25°C) | 7.3 (25°C) | 7.6 (25°C) | 7.8 (25°C) | 7.2 (25°C)
10 |0k EETRHNCE K27 K27 K27 K27 K87 K27 27U K27 K27 K27 K7L
nER EETRHNCE K27 K27 287l K27 K87 K27 K27 227 K27 K27 K7L
7 (eE SEMT 0.5 X 0.5 X 0.5 X 0.5 X 0.5 X 0.5 X 0.5 X 0.5 X 0.5 X 0.5 0.5 X
138E 2B 0.1 i 0.1 it 0.1 it 0.1 it 0.1 it 0.1 it 0.1 it 0.1 it 0.1 it 0.1 it 0.1 it
14 [FRBIER (=E1E) — 0.3 0.25 0.2 0.15 0.1 0.2 0.1 0.15 0.2 0.3 0.15
UTERB)

XEEIBBNSHSBETIIERICEDES. RBICL TBAIDREZEMLET.
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No, 2

= . = B HX % P
FEEETER & | Grs | & | @ 55 | ol | com | U L BOR | mmom
1 [EREXB BB 88218 88218 88218 88218 88218 88218 88218 88218 88218 88218 88218
2 |Xix LBEOXIE BN BN BN BN BN BN BN BN BN BN BN
3 %R C 29.0 27.8 32.0 315 30.6 31.4 315 31.6 28.4 30.6 30.5
4 K8 C 23.0 23.5 20.0 23.2 27.0 27.0 27.0 18.0 23.0 20.0 16.5
) . F EX % P
e ® | s | &p | @ 55 | @yl | com | V8 — BE5 | geom
b & 10018,/ mLAT 0 0 0 0 0 0 0 0 0 0 0
6 ([ Kiz&@ Rashal\Ce | BEshal) [ BHEn&z0) | REahal) | BEEn&0) | REahal) [ BHEn&0) | REahal) [ BHEn&0) | REanzal) | BHEn&0) | REahal)
T &I HY 200mg,/ LT 20 Fis 20 Eis 20 Fi 20 Fis 20 Eis 20 Fi 20 Fis 20 i 20 i 20 K7 20
g [BEH o [mesT 0.5 0.5 0.3 K% | 03FE | 03 % 0.3 0.3 0.3 Fi 0.3 0.3 K& | 03 FE
9 [pHIE 5.8 8.6 7.7 (250C) | 1.6 (25°C) | 1.3 (25°C) | 7.2 (25°C) | 6.8 (25°C) | T.1 (25°C) | 7. (25%C) | 6.9 (25°C) | 6.8 (25°C) | 7.5 (25°C) | 1.8 (25¢C)
10 Bk EETRCL EEZL FEE&L KB KEL KB KB B KB EEZL FEEZL EE7&L
1 |18% EETRCL KB B KB B KB KB B KB B FEEZL EE7&L
2 |eE BELT 0.5 0.5 0.5 K& 0.5 K& 0.5 K& 0.5 K& 0.5 K& 0.5 K& 0.5 K& 0.5 K& 0.5 K&
138E 2B 0.1 i 0.1 i 0.1 it 0.1 i 0.1 i 0.1 i 0.1 i 0.1 i 0.1 i 0.1 i 0.1 i
14 [(RBIEXR (5B - 0.3 0.1 0.4 0.3 0.3 0.25 0.4 0.3 0.1 0.2 0.25
ATHRB)
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No, 3

£ B 1% PR FREURPR (S 7KB)
" B8 3 E % B %] =agm BR Sh m HE_ | BBRE | mngm RE8% BREEF | cxmm | <x8R
(0 m) =) =) (Z28) (BED) o (E#R) (KDBE)
1 [#RERB =[S 88218 88218 88218 88218 88218 88218 88218 REB B8 88218 88218
2 | XKz LBEOXE BN BN BN BN BN BN BN PN BHDXIR (=g BN
3 |Ria C 30.3 29.4 29.8 28.5 29.0 28.8 27.7 8 © 32.0 26.0
4 [2G8 C 25.5 22.0 20.9 215 22.5 27.6 18.5 K8 © 27.0 24.3
% EX 1% P REUZPR (S5 7K8)
2 % 1B B B £ @ BER BR S " WE_ | BBRS | ang BE3 BREY | xxmm | 588
(BL) (3) (3) (C2E8) (ED) o (E#8) (koBR)
5 |[—iH&E 10018 /mLLT 0 0 0 0 0 0 0 —BE 10018,/ nLIL T 0 0
6 | KIB&E BEHENZWCE | BESNED | BEEnEV) | BEEnAEL) | BEEnAEL) | BEEnAEL) | BEENEL) | BEEnsE0) NI ganzLle | BESNEL) | BEENEW
T (BT 200mg /LBATR 20 FKig 20 K% 20 K% 20 K% 20 K% 20 K% S BT A | 200me /LUT 20 K 20 it
8 Eﬁ%@ﬁm] og) |3mE/ LT 0.3 F% 0.3 F% 0.3 F% 0.3 F 0.3 F% 0.3 F% 0.3 %% | BB | e 0.3 F% 0.3 F
9 |pHiE 5.8 F8.6LLF 6.9 (25°C) | 1.2 (25°C) | 1.3 (25°C) | 7.2 (25°C) | 7.8 (25°C) | 1.9 (25°C) | 7.0 (25%C) pHIBE selukssT | 7.7 (25C) | 1.7 (25°C)
10 |0k EETRHNCE K27 K27 K27 K27 K87 K27 22U 173 RETRNIE K87 K27L
I EsS EETRHNCE K27 K27 287l K27 K87 K27 K27 2% RETHRNIE |5l 2250
°?(eE SEMT 0.5 X% 0.5 X 0.5 X 0.5 X 0.5 X 0.5 X 0.5 X BeE BELT 0.5 X 0.5 X
1BEE BT 0.1 K 0.1 K 0.1 K 0.1 K 0.1 K% 0.1 K 0.1 it BE 2EMT 0.1 K 0.1 K
14 |35 BIER(&EB) — 0.3 0.15 0.6 0.2 0.2 0.3 0.2 TEBIE R emw - 0.1 0.2
ATFB) CLTHB)
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